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Exercise 7.1
Question 1:

Find an anti-derivative (or integral) of the following functions by the method of
inspection.  sin 2x

Answer 1:
The anti-derivative of sin 2x is a function of x whose derivative is sin 2x.It is known
that,

;i(cos 2x)=~-2sin 2x
dx

. 1 d
= sin 2x = ~——(cos 2x)
2 dx

C.8in2x = i(—lcos '2.\‘)
2

dx
Therefore, the anti-derivative of  ¢jn 2y is - ,l_cosg_\-
)
Question 2:

Find an anti-derivative (or integral) of the following functions by the method of
inspection.  cos 3Xx

Answer 2:
The anti-derivative of cos 3x is a function of x whose derivative is cos 3x.
It is known that,

' R
—(sin3x)=3cos3x
dx

Ll ,oion
= cos3x =~ —(sin3x)
3dx

. d (I ; ]
S CoS3x =—| —sin3x
dx\ 3

Therefore, the anti-derivative of  cos3x is l;sin 3x
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Question 3:

Find an anti-derivative (or integral) of the following functions by the method of
inspection.  e*

Answer 3:
The anti-derivative of e?*is the function of x whose derivative is e?.

It is known that,

d 2x 2x
:I‘—‘_‘((’. )22(’
2x l ‘{ 2x
= e =——1|e )
2 dx

o L, d[] :'.Y)
set=—|—e
dr\ 2

Therefore, the anti-derivative of ¢ is €

(§)

Question 4:

Find an anti-derivative (or integral) of the following functions by the method of
inspection.  (ax + b)?

Answer 4:
The anti-derivative of (ax + b)? is the function of x whose derivative is (ax + b)2.
It is known that,

i('a.\'+h)3 =3a(ax+b)
dx

= (a.\'+b)? = i%(a\%b')‘

“(ax+b) =i[l(ux+h)")

dx\ 3a

Therefore, the anti derivative of (ax+b) is 3—(ax+b)‘
ad
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Question 5:
Find an anti-derivative (or integral) of the following functions by the method of
inspection.  sin 2x - 4e¥

Answer 5:
The anti-derivative of sin 2x - 4e3* is the function of x whose derivative is sin2x -
4e3

It is known that,

i[_lcoszx—ieh ‘zsin2x—4c:"
dx 3"

e

» (1 it
Therefore, the anti derivative of (sin 2x4e ) is (—; cos 2x —ge' ]

—

Question 6: J-(‘k’"" +1 )

Answer 6:

I( 4™ +1 ):l.\‘

=4 I e dr + Jld.r

=4[i]+.r+(f
; 3

e +x+C
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Question 7:

Chapter - 7

I.\'Z[I—x%]dr

Answer 7:

jx’[l-%)dr
= J'(x:—l)dr

= j.\-fd\-- jux

i

x
=—=x+C

Question 8: I( ax® +bx +c)dx

Answer 8:
I(ar3 +bx+c)dx

=a J dx+b jxd\' +c Il «x

3 2
=a(i)+b(f—J+cx+C
3 2

ax’  bx’ ,
=—+—+cx+C

Question 9: 'ﬂl\'? +e' Jd

Answer 9:
I( 2x° +e* )dr

= I.r:d\' - Ie"d.r

3
:2(i)+ex+c
_3

2. a _
=—=x +e" +C
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Question 10: j'[\/;—jl_;]d\

Answer 10:

(-4

= I.rdx . Il dx-2 J.l dx

X

= %+ Iog]x| -2x+C

N .2
s Sx -4
Question 11: = ~dx

Answer 11:

j-.\"' +5x° -4 .

-

X"
= I(x+5 —4x7 )d\'
= J xdx+5 Il dx—4 jx': dx

2 |
=L+5x_4[-*_)+c
2

X .
=—+35x+—+C
X
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3
Question 12: Iﬂd\

Jx

Answer 12:

3
J'x +3x+4 2
Jx

S | -l
= J(x’ +3x? +4x? )dx
3 .I \
7 3(.\'3) 4[.\'3 J
) — +C

" +
3 I
2

2

| =

3 |
+2x? +8x2 +C

-2

¥

(SRR

+2x5 +8\/.x_'+(‘

¥

o 9 o l-

dx

3 2
. X=X +x—1
Question 13: j." t 1" -
x-

Answer 13:

X =x+x-1
[Eereel,
X—

On dividing, we obtain
= J(.r: + l)dr
= J.x:dr+ Ild.\'

3
=—+4x+C
3

6 For more study Materials login to
edukalpclasses.com


https://edukalpclasses.com/
https://edukalpclasses.com/
https://edukalpclasses.com/

Class 12

I( - x)\f;dr

Question 14:

Answer 14:

I( 1- .r)\/;dv

Question 15:

Answer 15:

j Ja (357 +2x+3) dr

5 3 1
= J{l\*: +2x2 +3x°2 }lx

=3 I.\'gdx +2 Ix;dx +3 I.r;dv

5 3

>

=9x—’ +—x242x2 +0
7 5
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